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Questions for the Entrance Examination to the Master’s Program of Biomedical Engineering

(Medicine Course)
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Examination Subject: Rudimentary Mathematics
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Calculate Maclaurin expansion of following functions up to the third term.

M f(x) = log (1 +2x)

(2) f(x) = 2xcosx

il 2.
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Calculate following integrals
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il 3.
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Find the area which is surrounded by the curve y = 2x — x? and the x-axis.

Qe y=e™& ylh, x =1 THINDIKEL S 75, S Z xfhDEH 0 IZ[EHLE L TH B D K
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Let S be the area surrounded by the curve y =e™*

, y—axis and x = 1. Find the volume of a

solid of revolution obtained by rotating S around the x—axis.
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y' =2xy?
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For the differential equation:
y' = 2xy?,
find the solution at y # 0.

(2) DIy I HEX
xy' +y=2y?
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For the differential equation
xy' +y=2y?

Find the solution at the initial condition x =1, y = —1.
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Decide whether the following matrix is regular or not

inverse matrix.

1 1 1
2 1 1

4 3 2

il 6.
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x—3y—2z=0
2x —5y—4z=-1
3x—7y—z=8
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For the simultaneous linear equation,

x—3y—2z=0
2x —5y—4z=-1
3x—7y—z=8

(1) show matrix representation and,

(2) find the solution.

If the matrix is regular,

find the



